Wall bracket for 2 NewMotion charge points
Muurbeugel voor 2 NewMotion-laadpunten | Support mural pour 2 point de charge NewMotion |
Wandhalterung fur 2 NewMotion Ladestationen

/\ IMPORTANT

EN: Install the earthing wire to the bolt of the wall bracket for 2 charge points

NL: Installeer de aarde draad aan de bout van de muurbeugel voor 2 laadpunten

FR: Installez le cable de mise a la terre sur la vis du support mural pour 2 points de charge
DE: Befestigen Sie das Erdungskabel an der Schraube der Wandhalterung fiir 2 Ladestationen

EN: Suggested height: +25cm from the ground
NL: Voorgestelde hoogte: +25cm van de grond
FR: Hauteur suggérée : a +25 cm du sol

DE: Empfohlene Hohe: £25 cm Uber dem Boden

EN: Maximum cable thickness: 10 mmz2*
NL: Maximale kabeldikte: 10 mm?*

FR: Epaisseur maximale de céble : 10 mmz2*
DE: Maximale Kabeldicke: 10 mm?2*

EN: Use cable clamps to secure the power cable to the wall

NL: Gebruik kabelklemmen om de voedingskabel tegen de muur te bevestigen
FR: Utilisez des colliers de cables pour fixer le cable d’alimentation au mur

DE: Verwenden Sie Kabelschellen, um das Netzkabel an der Wand zu befestigen

EN: Make sure the wall bracket for 2 charge points is leveled

NL: Zorg ervoor dat de muurbeugel voor 2 laadpunten waterpas is bevestigd

FR: Assurez-vous que le support mural pour 2 bornes 2 points de charge

DE: Stellen Sie sicher, dass die Wandhalterung fur 2 Ladestationen waagerecht ausgerichtet ist

EN: Recommended to use 4x coach screws (and plugs for concrete) of at least M8x60 for
mounting on the wall

NL: Aanbevolen om 4x houtdraadbouten (en pluggen voor beton) te gebruiken van ten minste
M8x60 voor muurbevestiging

FR: Il est recommandé d'utiliser 4 tire-fonds (et des chevilles pour béton) d’au moins M8x60 pour le
montage mural

DE: Es wird empfohlen, fur die Wandmontage 4 Schienenschrauben (und Dubel fir Beton) mit
mindestens M8x60 zu verwenden

* For reference of miminum cable thickness, please consult local rules & regulations

* Voor referentie naar minimale kabel dikte wordt verwezen naar lokale regel- & normgeving

* Pour plus d’informations sur I'épaisseur minimale du cable, veuillez consulter les réglementations locales
* Informationen zur Mindestkabeldicke finden Sie in den 6rtlichen Vorschriften und Bestimmungen

DISCLAIMER

How this product should be installed and used depends on local circumstances and local and national regulation, which are not mentioned in our manuals. NewMotion is not responsible for any loss or
damage whatsoever caused — including without limitation, any indirect, personal or consequential loss or damage - arising from or in connection with the use of this manual. Nor does NewMotion accept
any liability for any such loss or damage arising out of your reliance on any information contained in this manual.

Hoe dit product moet worden geinstalleerd en gebruikt hangt af van de plaatselijke omstandigheden en lokale en nationale regelgeving die niet in onze handleiding vermeld staan. NewMotion is niet
verantwoordelijk voor enig verlies of schade - met inbegrip van, maar niet beperkt tot - indirecte, persoonlijke of gevolgschade - voortvloeiend uit of in verband met het gebruik van deze handleiding.
Evenmin aanvaardt NewMotion enige aansprakelijkheid voor dergelijke schade of verlies die het gevolg is van uw vertrouwen op enige informatie in deze handleiding.

La facon dont ce produit doit étre installé et utilisé dépend des circonstances locales, ainsi que des réglementations locales et nationales, qui ne sont pas mentionnées dans nos manuels. New Motion
n’est pas responsable des pertes ou dommages quels qu'ils soient, y compris, sans limitation, les pertes ou dommages indirects, personnels ou consécutifs, découlant de ou en relation avec I'utilisation
de ce manuel. New Motion n’accepte aucune responsabilité pour une telle perte ou de tels dommages découlant de la confiance que vous accordez a toute information contenue dans ce manuel.

Wie dieses Produkt zu installieren und zu verwenden ist, hangt von értlichen Gegebenheiten und lokalen/nationalen Bestimmungen ab, die nicht in unseren Handbtichern erwéhnt werden. NewMotion
ist nicht fr Verluste oder Schéaden jeglicher Art verantwortlich, einschlieBlich, aber nicht beschrankt auf, alle indirekten oder Folgeschaden, die sich aus der oder im Zusammenhang mit der Verwen-
dung dieses Handbuchs ergeben. NewMotion tibernimmt zudem keinerlei Haftung flr solche Verluste oder Schaden, die aus Ihrem Vertrauen auf die in diesem Handbuch enthaltenen Informationen
entstehen.

OPDWB2219INT03 @ newmotion'

AMermber of the Shell Group




Wall bracket for 2 NewMotion charge points
Veggfeste for 2 NewMotion-ladepunkter | Soporte de pared para 2 puntos de carga NewMotion |
Supporto a parete per 2 punti di ricarica NewMotion

/\ IMPORTANT

NO: Fest jordledningen til bolten pa veggfeste for 2 ladepunkter
ES: Conecte el cable de puesta a tierra al perno del soporte de pared para 2 puntos de carga
IT: Installare il filo di massa sul bullone della staffa di supporto a parete per 2 punti di ricarica

NO: Anbefalt hayde: + 25 cm fra bakken
ES: Altura recomendada: £25 cm con respecto al suelo
IT: Altezza consigliata: +25 cm da terra

NO: Maksimal kabeltykkelse: 10 mm2*
ES: Grosor maximo del cable: 10 mm2*
IT: Spessore massimo del cavo: 10 mmz2*

NO: Bruk kabelklemmer for & feste stramkabelen til veggen
ES: Utilice abrazaderas de cable para fijar a la pared el cable de alimentacién
IT: Utilizzare i morsetti serracavo per fissare il cavo di alimentazione alla parete

NO: Kontroller at veggfeste for 2-ladepunkter er i vater
ES: Asegurese de que el soporte de pared para 2 puntos de carga esta nivelado
IT: Assicurarsi che la staffa di supporto a parete per 2 punti di ricarica sia in piano

NO: Det anbefales & bruke 4 x vognbolter (og plugger for betong) pa minst M8x60 for montering
pé vegg

ES: Se recomienda utilizar 4 tirafondos (y tapones para hormigéon) M8x60 (como minimo) para el
montaje en la pared

IT: Si consiglia di utilizzare 4 tirafondi (e tamponi di calcestruzzo) di almeno M8x60 per il montaggio
a parete

* Se lokale regler og forskrifter for & fa informasjon om minste kabeltykkelse
* Para conocer el grosor minimo del cable, consulte las normativas locales
* Per lo spessore minimo del cavo, fare riferimento alle normative locali

DISCLAIMER

Hvordan produktet skal monteres og brukes, avhenger av lokale forhold og lokal og nasjonal lovgivning, som ikke er nevnt i brukerh&dndbekene. NewMotion er ikke ansvarlig for tap eller skader, herunder
indirekte, personlig eller felgemessig tap eller skade, som oppstér som felge av eller i forbindelse med bruk av denne handboken. NewMotion godtar heller ikke ansvar for tap eller skader som oppstar
som felge av at du stolte pa eller fulgte noe av informasjonen i denne brukerhandboken.

La forma correcta de instalar y usar el producto depende de las circunstancias locales, asi como de las normativas locales y nacionales, que no se mencionan en los manuales. NewMotion no se res-
ponsabiliza de ninguna pérdida ni dafo causado, incluidos, entre otros, cualquier pérdida o dafio indirecto, personal o consecuente, que surja del uso de este manual o esté relacionado con el mismo.
Del mismo modo, NewMotion no se hace responsable de ninguna pérdida ni dafio que surja de la confianza que deposite en la informacion facilitada en este manual.

Le modalita di installazione e utilizzo del prodotto dipendono dalle circostanze, oltre che dalle normative locali e nazionali, che non sono menzionate nel presente manuale. NewMotion non & responsa-
bile di eventuali perdite o danni di qualsiasi tipo, inclusi a titolo esemplificativo ma non esaustivo, qualsiasi perdita o danno indiretto, personale o consequenziale derivante da o in connessione all’'uso
del presente manuale. NewMotion non si assume alcuna responsabilita per qualsiasi perdita o danno derivante dall’applicazione di qualsiasi informazione contenuta nel presente manuale da parte
dellutente.

OPDWB2219INT03 @ newmotion'

AMermber of the Shell Group




